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A beam of light strikes a piece of glass at an angle of incidence of 60° and the reflected beam
is completely plane polarised. The refractive index of the glass is -

(a)1.5 (b) V3 () V2 (d) (312)

Statement-1 :
On viewing the clear blue portion of the sky through a Calcite Crystal, the.intensity of
transmitted light varies as the crystal is rotated.

Statement-2 :

The light coming from the sky is polarized dle to scattering of sun light by particles-in-the
atmosphere. The scattering is largest for blue light.

(a) Statement-1 is true, statement-2’is false

(b) Statement-1 is true, statement-2.is-true, statement-2 is the correct explanation-of
statement-1

(c) Statement-1 is true, statement-2 is true, statement-2 is.not the correct€xplanation of
statement-1

(d) Statement-1, is false, statement-2 is true

When an-unpelarized light of intensity I.is incident on a polarizing sheet, the intensity of the
light which does'not get transmitted is -

@< To ()7 To (c) zero (A Io

A ray of unpolarisedtight is incident on a glass plate at the polarising angle 57°.

-(I;lr)]etrr]]e_ reflected ray and the transmitted ray both will be completely polarised

(b) the reflected.-ray will be completely polarised and the transmitted ray will be partially
?c?)lat;;:e?eﬂected ray will be partially polarised and the transmitted ray will be completely
?c?)letlggigﬂected and transmitted both rays will be partially polarised

Two Nicol prism are first crossed and then one of them is rotated through 60°. The percentage
of incident light transmitted is
(@) 1.25 (b) 25.0 (c)37.5 (d) 50

A beam of unpolarized light is passing through two polarisers . Angle between transmission

axes of polarisers is changing with constant rate. If incident beam has intensity I, Average
intensity of transmitted beam average over long time interval is

@ Ip
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Q7. Mark the correct statement
(a) We can not get completely polarised light by scattering.
(b) In polarisation by partial reflection , refracted ray is completely polarised at angle of
incidence tan™! p.
(c)Partially refracted ray has electric field in the plane of reflection only when incidence is at
brewesters angle. ( plane of incidence , normal and reflected ray is plane of reflection )
(d) None of these

Q8. Two polarizers have mutually perpendicular transmission axes . A third polarizer is placed
between them . Its transmission axis is at angle n/3 with one and n/6-with other polarizer. A
completely unpolarized light falls on combination . Ratio intensity.of émergent light to
encident light is
(@) 1/4
(b) 1/16
(c) 1/8
(d) 3/32

Q9. Reason behind blue colour of sky is
() Refraction
(b) Polarisation
(c) Scattering
(d) None of these

Q 10. Some'polarizers ‘are placed on z axis with their.transmission axes parallel to xy plane. When a
beam\of completely unpolarized light falls on combination from one side emergent intensity
is\quarter.of incident intensity, If unpelarizéd-beam falls from other side ratio of emergent
inténsity to incident intensity
(a)-May be quarter
(b) Must be quarter
(c) May be greater than quarter
(d) May be)zero

Answer Key

Ql1l b Q2 b Q3 a Q4 b Q5 ¢

Q.6 ¢ Q.7 d Q.8 d Q9 ¢ Q.10 b
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Q 1) A beam of light strikes a piece of glass at an an @ence of 60° and the
reflected beam is completely plane polarlsed The Ive index of the glass is -
=& @ S
@QQS 68

\> w@@ :

(a)1.5 ) \/§ (c) V2 (d) (3/2)




Q2)
Statement-1 :
On viewing the clear blue portion of the t% a Calcite Crystal, the

Intensity of transmitted light var a stal is ro ted
Stateme mrh
The light comlng from t r@d due to r| sun light by
particles in the a catterl blue light.

(a) Stateme gement 2//133 <i
e, state statement 2 is the correct
explan atement i
em

(c) Stat t- 1 IS tr t 2 1S true, statement-2 1s not the correct
explanatlon of state

(d) Statemenb\?s

|se, statement-2 IS true



Q 3) When an unpolarized light of intensity I, Is Inci @polanzmg sheet, the

Intensity of the light which does not get transmlt
IS -

v




Q 4) Aray of unpolarised light is |nC|dent on a glass e polarising angle
57°. Then -
(a) the reflected ray and the ed iaﬁy both @wpletely
polarised <§

Ietel NQ 0

(b reflected r
will be partial

nd the transmitted ray

(c) ther WI|| bep @rlsed and the transmitted ray
will be ely pol é%
(d) the reflecte @% ed both rays will be partially polarised



Q 5) Two Nicol prism are first crossed and then one @rotmed through 60°.
The percentage of incident Ilght transmitted |s
L
(a) 1.25 % 50 % (d) 50
@ ~ = 3 25‘
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Q 6) A beam of unpolarized light is passing through two pelarisers. . Angle between
transmission axes of polarisers is changing with con lii; t% Inctdent beam has intensity
‘\ S .4 O

I, Average intensity of transmitted beam averag Interval is
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Q 7) Mark the correct statement @
(a) We can not get completel ise&ﬁ tbys a@%
AN
\>
€p

(b) In polarisation by partial lon , refract completely
polarised at ang 1,
. i , has electri %é% lane of reflection

elsat ngle. ( plane of incidence,
1 reflected r P of reflection )




Q 8) Two polarizers have mutually perpendicular transmission axes . A third
polarizer is placed between them . Its transmission axis is‘at angle /3 with one
and /6 with other polarizer. A completely unpolarized light falls on
combination . Ratio intensity of emergent light to encident light is

(a) 1/4
(b) 1/16
(c) 1/8

~el) 3/32






sion axes parallel to
combination from
funpolarized beam falls

Q 10) Some polarizers are placed on z axis with their tr
xy plane. When a beam of completely unpolarized I|

one side emergent intensity Is quarter of |nC|den
from other side ratio of emergent mten
(< /
Lo @ \&v)\ /’-u
(a) May be quarter ﬁﬁ\\w \ /é@
(b)Y Must be quar % @@

(c) May be quarter

= Lo (,p( (o3 < *QZ*’(

aX o<|o

%
(d) I\/Ia><§ %C@X@ (a3 °<. o Gox <, e <y - Q’;i(;
@@ — IG/C( |



For Video Solution of this DPP, Click on below link

Video Solution . . .
on Website:- https://physicsaholics.com/home/courseDetails/96

Video Solution

on YouTube:- https://youtu.be/RBQAWAXpPRYS

Written Solution

on Website'- https://physicsaholics.com/note/notesDetalis/47


https://physicsaholics.com/home/courseDetails/96
https://youtu.be/RBQAwAxpRys
https://physicsaholics.com/note/notesDetalis/47

§3) suBscRIBE

Q@ ©

@NEET-Physics
@Physicsaholics ~ @Physicsaholics_prateek @ TJEE-Physics physicsaholics.com Unacademy

;@) @ @ 7 7
CLICK



https://www.youtube.com/channel/UCRwRoH5KjBrkkSIhS_UoJlw
https://www.instagram.com/p/B_Yl0gnBfsz/?igshid=krndq8sjbj5p
https://t.me/NEET_PHYSICS
https://t.me/IITJEE_PHYSICS
https://www.physicsaholics.com/
https://unacademy.com/@physicsbyprateekjain




